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extended Fingering

Fingering on the bass is often approached by playing one finger per fret. For example, in 

1st position, the 1st finger plays notes at the 1st fret, the 2nd finger plays notes at the 2nd 

fret, the 3rd finger plays notes at the 3rd fret, and the 4th finger plays notes at the 4th fret. 

Extended fingering is when we reach a distance of two frets between the 1st and 2nd, 2nd 

and 3rd, or 3rd and 4th fingers. Playing with extended fingering allows you to cover more 

distance without having to change position.

Below is the D Mixolydian mode, first played on page 35. Notice the use of extended fingering.

extended Fingering with chromatic notes 

The piece at the end of this chapter is an arrangement of Nikolai Rimsky-Korsakov’s famous 

composition “The Flight of the Bumblebee.” It contains chromatic passages (movement in 

half steps) that need to be played with extended fingering. Let’s check out a couple of these 

passages and learn the fingering before we play the piece.
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Double thumbing in the style of Victor Wooten

The following examples are in the style of Victor Wooten, bass player for Béla Fleck and 

the Flecktones.
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